Turkish Journal of INEQUALITIES

Available online at www.tjinequality.com

REFINEMENT OF SOME BEREZIN NUMBER INEQUALITIES

MOHAMED AMINE IGHACHANE¹ AND MOHAMED AKKOUCHI²

ABSTRACT. In this work, we obtain a generalization and refinement of some Berezin number inequalities obtained by A. Taghavi *et al.*, in this paper [Some upper bounds for the Berezin number of Hilbert space operators, Filomat 33(14) (2019), 4353-4360]. Among other things, some inequalities for f-connection of operators are also provided.

1. INTRODUCTION

Let $B(\mathcal{H})$ denote the \mathbb{C}^* -Algebra of all bounded linear operators on a complex Hilbert space \mathcal{H} . An operator $A \in B(\mathcal{H})$ is called positive, denoted as $A \ge 0$ if $\langle Ax, x \rangle \ge 0$ for all $x \in \mathcal{H}$. The set of all positive operators is denoted by $B(\mathcal{H})^+$, and it is called positive definite denoted as A > 0 if $\langle Ax, x \rangle > 0$ for all nonzero $x \in \mathcal{H}$. The numerical range of Ais defined by

$$W(A) := \{ \langle Ax, x \rangle : x \in \mathcal{H}, ||x|| = 1 \}.$$

The numerical radius of A is defined as

$$w(A) = \sup\{|z|, z \in W(A)\}.$$

It is well-known that w(.) defines a norm on \mathcal{H} , and is equivalent to the usual operator norm $||A|| = \sup\{||Ax||, x \in \mathcal{H}, ||x|| = 1\}$. And for every $A \in B(\mathcal{H})$ we have

$$\frac{1}{2}||A|| \le w(A) \le ||A||.$$

Let Ω be a nonempty set. A functional Hilbert space $\mathcal{H} = \mathcal{H}(\Omega)$ is a Hilbert space of complex valued functions, which has the property that point evaluations are continuous i.e. for each $\lambda \in \Omega$ the map $f \mapsto f(\lambda)$ is a continuous linear functional on \mathcal{H} . The Riesz representation theorem ensues that for each $\lambda \in \Omega$ there exists a unique element $k_{\lambda} \in \mathcal{H}$ such that $f(\lambda) = \langle f, k_{\lambda} \rangle$ for all $f \in \mathcal{H}$. The collection $\{k_{\lambda}\} : \lambda \in \Omega$ is called the reproducing kernel of \mathcal{H} . If $\{e_n\}$ is an orthonormal basis for a functional Hilbert space \mathcal{H} , then the reproducing kernel of \mathcal{H} is given by $k_{\lambda}(z) = \sum_{n} \bar{e_n}(\lambda) e_n(z)$; (we can see [5, Problem 37]). For $\lambda \in \Omega$, let $\tilde{k}_{\lambda} := \frac{k_{\lambda}}{||k_{\lambda}||}$ be the normalized reproducing kernel of \mathcal{H} . For a bounded

Key words and phrases. Young inequality, Berezin number, Numerical radius, f-connection

²⁰¹⁰ Mathematics Subject Classification. Primary: 47A30. Secondary: 15A60, 47B20.

linear operator A on \mathcal{H} , the function \tilde{A} , defined on Ω by $\tilde{A}(\lambda) := \langle A\tilde{k}_{\lambda}, \tilde{k}_{\lambda} \rangle$, is the Berezin symbol of A, which firstly have been introduced by Berezin. ([2,3]). The Berezin set and the Berezin number of the operator A are defined by

$$Ber(A) := \{ \tilde{A}(\lambda), \lambda \in \Omega \}, and ber(A) := \sup\{ |\tilde{A}(\lambda)|, \lambda \in \Omega \}.$$

Clearly, the Berezin symbol \hat{A} is a bounded function on Ω whose values lie in the numerical range of the operator A, and hence

$$Ber(A) \subseteq W(A), and ber(A) \le w(A).$$

The Berezin norm of an operator A is given by

$$||A||_{ber} = \sup\{|\langle A\tilde{k}_{\lambda_1}, \tilde{k}_{\lambda_2}\rangle| : \lambda_1, \lambda_2 \in \Omega\}.$$

Let $A, B \in B(\mathcal{H})$ be positive invertible operators and $\alpha \in [0, 1]$. The α -weighted operators geometric mean of A and B, denoted by $A \sharp_{\alpha} B$, is defined as

$$A\sharp_{\alpha}B = A^{1/2} \left(A^{-1/2} B A^{-1/2} \right)^{\alpha} A^{1/2}.$$

2. Prerequisites

To prove our Berezin number inequalities, we need the following results concerning Young's inequality.

The well-known Young's inequality, for scalars asserts that for all positive real numbers a, b and $0 \le \alpha \le 1$,

$$a^{\alpha}b^{1-\alpha} \le \alpha a + (1-\alpha)b.$$

F. Kittaneh, and Y. Al- Manasrah [12], gave the following refinement of Young inequality as

$$a^{\alpha}b^{1-\alpha} + r_0(\sqrt{a} - \sqrt{b})^2 \le \alpha a + (1-\alpha)b,$$
 (2.1)

where $r_0 = \min\{\alpha, 1 - \alpha\}$.

Recently, Manasrah and Kittaneh gave the following generalization refinement of Young's inequality as follows

Theorem 2.1. Let a and b be two positive numbers and $0 \le \alpha \le 1$. Then for all positive integer m, we have

$$\left(a^{\alpha}b^{1-\alpha}\right)^{m} + r_{0}^{m}\left(a^{\frac{m}{2}} - b^{\frac{m}{2}}\right)^{2} \le \left(\alpha a + (1-\alpha)b\right)^{m},$$
(2.2)

where $r_0 = \min\{\alpha, 1 - \alpha\}$.

Ighachane and Akkouchi [7], gave a new generalization refinement of Young's inequality as

Theorem 2.2. Let a and b be two positive numbers and $0 \le \alpha \le 1$. Then for all positive integer m, we have

$$r_0^m \left(a^{\frac{m}{2}} - b^{\frac{m}{2}}\right)^2 \le r_0^m \left(\frac{b^{m+1} - a^{m+1}}{b - a} - (m+1)(ab)^{\frac{m}{2}}\right) \le \left(\alpha a + (1 - \alpha)b\right)^m - \left(a^{\alpha}b^{1 - \alpha}\right)^m,$$

where $r_0 = \min\{\alpha, 1 - \alpha\}.$

Later, the same authors in [8], gave a further refinement of Young's inequality as follows

Theorem 2.3. Let a and b be two positive numbers and $0 \le \alpha \le 1$. Then for all positive integer m we have

$$\left(a^{\alpha}b^{1-\alpha}\right)^{m} + r_{0}^{m}\left(\frac{b^{m+1}-a^{m+1}}{b-a} - (m+1)(ab)^{\frac{m}{2}}\right) + r_{m}\left(\left((ab)^{\frac{m}{4}} - b^{\frac{m}{2}}\right)^{2}\chi_{(0,\frac{1}{2}]}(\alpha) + \left((ab)^{\frac{m}{4}} - a^{\frac{m}{2}}\right)^{2}\chi_{(\frac{1}{2},1]}(\alpha)\right) \leq \left(\alpha a + (1-\alpha)b\right)^{m},$$

where $r_0 = \min\{\alpha, 1-\alpha\}, r_m = \min\{(m+1)r_0^m, (1-r_0)^m - r_0^m\}$ and $\chi_I(\alpha)$ the characteristic function.

We know from [6] that for $\alpha \in [0, 1]$ and $r \ge 1$,

$$\alpha a + (1 - \alpha)b \le (\alpha a^r + (1 - \alpha)b^r)^{1/r}.$$
(2.3)

It follows from (2.3) and Theorem 2.2 that

$$\left(a^{\alpha}b^{1-\alpha}\right)^{m} + r_{0}^{m}\left(\frac{b^{m+1} - a^{m+1}}{b-a} - (m+1)(ab)^{\frac{m}{2}}\right) \le \left(\alpha a^{r} + (1-\alpha)b^{r}\right)^{\frac{m}{r}},$$
(2.4)

where $r_0 = \min\{\alpha, 1 - \alpha\}$. In particular, for $\alpha = \frac{1}{2}$, we get

$$\left(a^{1/2}b^{1/2}\right)^m \le \frac{1}{2^{\frac{m}{r}}} \left(a^r + b^r\right)^{\frac{m}{r}} - \frac{1}{2^m} \left(\frac{b^{m+1} - a^{m+1}}{b - a} - (m+1)(ab)^{\frac{m}{2}}\right).$$
(2.5)

We need also the following basic lemmas:

In 1952, Kato [9] showed the mixed Schwarz inequality, which asserts

Lemma 2.1. Let $A \in \mathcal{B}(\mathcal{H})$ and $\alpha \in (0,1)$. Then

$$|\langle Ax, y \rangle|^2 \le \langle |A|^{2\alpha} x, x \rangle \langle |A^*|^{2(1-\alpha)} y, y \rangle, \qquad (2.6)$$

for all $x, y \in \mathcal{H}$.

The next lemma is a generalization of the mixed Schwarz inequality, this lemma is proved by F. Kittaneh [11].

Lemma 2.2. Let $A \in \mathcal{B}(\mathcal{H})$ and let f and g be non-negative continuous functions on $[0, +\infty)$ such that f(t)g(t) = t for all $t \in [0, +\infty)$. Then

$$\langle Ax, y \rangle|^2 \le ||f(|A|)x||||g(|A^*|)y||,$$
(2.7)

for all $x, y \in \mathcal{H}$.

The third Lemma follows from spectral theorem for positive operators and Jensen's inequality, this lemma is proved in [13].

Lemma 2.3. (McCarthy inequality) Let $A \in \mathcal{B}(\mathcal{H})$ $A \ge 0$ and let $x \in \mathcal{H}$ be any unit vector. Then

(a) $\langle Ax, x \rangle^p \leq \langle A^p x, x \rangle$ for $p \geq 1$,

(b) $\langle A^p x, x \rangle \leq \langle Ax, x \rangle^p$ for 0 .

Dragomir in [4] obtained an useful extension for four operators of the Schwarz inequality as following.

Theorem 2.4. [4] Let $A, B, C, D \in B(\mathcal{H})$, then for all $x, y \in \mathcal{H}$ we have the following inequality

$$|\langle DCBAx, y \rangle|^2 \le \langle A^*|B|^2Ax, x \rangle \langle D|C^*|^2D^*y, y \rangle.$$

3. Refinement of some Berezin number inequalities

In this section we provide some improvements to some inequalities for the Berezin number due to Ali Taghavi, Tahere Azimi Roushan, and Vahid Darvish [15].

Our first main result in this section is the following Theorem.

Theorem 3.1. Let $A, B, X \in B(\mathcal{H})$ be such that A, B are positive definite, and $\alpha \in (0, 1)$. Then for $m = 1, 2, ..., and p \ge 2m$, we have

$$ber^{p}((A\sharp_{\alpha}B)X) \leq ber(\alpha(X^{*}AX)^{\frac{p}{2m\alpha}} + (1-\alpha)(A\sharp_{2\alpha}B)^{\frac{p}{2m(1-\alpha)}})^{m} - \inf_{\lambda\in\Omega}(\zeta_{1}(\lambda) + \zeta_{2}(\lambda)),$$

where

$$\zeta_{1}(\lambda) = r_{0}^{m} \Big(\frac{\langle (A\sharp_{2\alpha}B)^{\frac{p}{2(1-\alpha)m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle (X^{*}AX)^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle (A\sharp_{2\alpha}B)^{\frac{p}{2(1-\alpha)m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle (X^{*}AX)^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} - (m+1)[\langle (X^{*}AX)^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle (A\sharp_{2\alpha}B)^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle]^{\frac{m}{2}} \Big),$$

and

$$\begin{split} \zeta_{2}(\lambda) &= \\ r_{m} \Big[\Big([\langle (X^{*}AX)^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle (A \sharp_{2\alpha} B)^{\frac{p}{2(1-\alpha)m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle]^{\frac{m}{4}} - \langle (A \sharp_{2\alpha} B)^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{\frac{m}{2}} \Big)^{2} \\ &\times \chi_{(0,\frac{1}{2}]}(\alpha) \\ + \Big([\langle (X^{*}AX)^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle (A \sharp_{2\alpha} B)^{\frac{p}{2(1-\alpha)m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle]^{\frac{m}{4}} - \langle (X^{*}AX)^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{\frac{m}{2}} \Big)^{2} \\ &\times \chi_{(\frac{1}{2},1]}(\alpha) \Big], \end{split}$$

where $r_0 = \min\{\alpha, 1 - \alpha\}, r_m = \min\{(m+1)r_0^m, (1 - r_0)^m - r_0^m\}.$

Proof. We have

$$\begin{aligned} |\langle (A\sharp_{\alpha}B)X\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle|^{p} &= |\langle A^{1/2}(A^{-1/2}BA^{-1/2})^{\alpha}A^{1/2}X\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle|^{p} \\ &\leq \langle X^{*}AX\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{p}{2}}\langle A^{1/2}(A^{-1/2}BA^{-1/2})^{2\alpha}A^{1/2}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{p}{2}} \\ & (\text{by Theorem 2.4}) \\ &= \left(\langle X^{*}AX\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{p}{2m}}\langle A^{1/2}(A^{-1/2}BA^{-1/2})^{2\alpha}A^{1/2}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{p}{2m}}\right)^{m} \\ &\leq \left(\langle (X^{*}AX)^{\frac{p}{2m}}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{\alpha}{\alpha}}\langle (A\sharp_{2\alpha}B)^{\frac{p}{2m}}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{1-\alpha}{1-\alpha}}\right)^{m} \\ & (\text{by Lemma 2.3 (a)}) \\ &\leq \left(\langle (X^{*}AX)^{\frac{p}{2\alpha m}}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\alpha}\langle (A\sharp_{2\alpha}B)^{\frac{p}{2m(1-\alpha)}}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{1-\alpha}\right)^{m} \\ & (\text{by Lemma 2.3 (a)}). \end{aligned}$$

So,

$$\begin{aligned} |\langle (A\sharp_{\alpha}B)X\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle|^{p} &\leq \left(\alpha\langle (X^{*}AX)^{\frac{p}{2\alpha m}}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle + (1-\alpha)\langle (A\sharp_{2\alpha}B)^{\frac{p}{2m(1-\alpha)}}\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle\right)^{m} \\ &-(\zeta_{1}(\lambda)+\zeta_{2}(\lambda)) \\ & (\text{by Theorem 2.3}) \\ &\leq ber\left(\alpha(X^{*}AX)^{\frac{p}{2m\alpha}} + (1-\alpha)(A\sharp_{2\alpha}B)^{\frac{p}{2m(1-\alpha)}}\right)^{m} \\ &-(\zeta_{1}(\lambda)+\zeta_{2}(\lambda)). \end{aligned}$$

Taking the supremum over $\lambda \in \Omega$, we deduce the result.

The following Theorem is proved in [15].

Theorem 3.2. [15] Let $A_i, B_i, T_i \in B(\mathcal{H})$ for i = 1, 2, 3, ..., n, and let f and g be nonnegative continuous functions on $[0, +\infty)$ such that f(t)g(t) = t, for all $t \in [0, +\infty)$. Then for $p \ge 1$, we have

$$ber^{p}\Big(\sum_{i=1}^{n} A_{i}^{*}T_{i}B_{i}\Big) \leq \frac{n^{p-1}}{2}ber\Big[\sum_{i=1}^{n}\Big(([B_{i}^{*}f^{2}(|T_{i}|)B_{i}]^{p} + [A_{i}^{*}g^{2}(|T_{i}^{*}|)A_{i}]^{p})\Big)\Big].$$

The second main result in this section is generalization and refinement of the above Theorem.

Theorem 3.3. Let $A_i, B_i, T_i \in B(\mathcal{H})$ for i = 1, 2, 3, ..., n, and let f and g be non-negative continuous functions on $[0, +\infty)$ such that f(t)g(t) = t, for all $t \in [0, +\infty)$. Then for $m = 1, 2, 3, ..., and r \ge m, p \ge m$, we have

$$ber^{p} \Big(\sum_{i=1}^{n} A_{i}^{*} T_{i} B_{i} \Big) \leq \frac{n^{p-m/r}}{2^{m/r}} ber \Big(\sum_{i=1}^{n} ([B_{i}^{*} f^{2}(|T_{i}|)B_{i}]^{\frac{pr}{m}} + [A_{i}^{*} g^{2}(|T_{i}^{*}|)A_{i}]^{\frac{pr}{m}}) \Big)^{\frac{m}{r}} - \inf_{\lambda \in \Omega} \xi(\lambda).$$

where

$$\xi(\lambda) = \frac{n^{p-1}}{2^m} \sum_{i=1}^n \Big(\frac{\langle [B_i^* f^2(|T_i^*|)B_i]^{\frac{p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle [A_i^* g^2(|T_i|)A_i]^{\frac{p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle [B_i^* f^2(|T_i^*|)B_i]^{\frac{p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle [A_i^* g^2(|T_i|)A_i]^{\frac{p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} - (m+1)[\langle [A_i^* g^2(|T_i|)A_i]^{\frac{p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle [B_i^* f^2(|T_i^*|)B_i]^{\frac{p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle]^{\frac{m}{2}} \Big).$$

Proof. We have,

by Lemma 2.3 and concavity of the function $t \longrightarrow t^{\frac{m}{r}}$. Taking the supremum over λ , we deduce the result. This completes the proof.

Remark 3.1. Taking m = r = 1, in Theorem 3.4 we obtain a refinement of Theorem 3.2 obtained by Ali Taghavi et al., in [15].

Choosing $f(t) = g(t) = \sqrt{t}$, and $T_i = I$ for i = 1, 2, ..., n, in Theorem 3.4 we obtain the following simpler form.

Corollary 3.1. Let $A_i, B_i \in B(\mathcal{H})$ for (i = 1, 2, 3, ..., n). Then for $m = 1, 2, 3, ..., and r, p \ge m$, we have

$$ber^p \Big(\sum_{i=1}^n A_i^* B_i\Big) \leq \frac{n^{p-m/r}}{2^{m/r}} ber^{\frac{m}{r}} \Big(\sum_{i=1}^n (|B_i|^{\frac{2pr}{m}} + |A_i|^{\frac{2pr}{m}}) - \inf_{\lambda \in \Omega} \xi(\lambda),$$

where

$$\begin{split} \xi(\lambda) &= \frac{n^{p-1}}{2^m} \sum_{i=1}^n \Big(\frac{\langle |B_i|^{\frac{2p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle |A_i|^{\frac{2p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle |B_i|^{\frac{2p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle |A_i|^{\frac{2p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} \\ &- (m+1) [\langle |A_i|^{\frac{2p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle |B_i|^{\frac{2p}{m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle]^{\frac{m}{2}} \Big). \end{split}$$

This theorem is proved in [15].

Theorem 3.4. [15] Let $A_i, B_i, T_i \in B(\mathcal{H})$ for (i = 1, 2, 3, ..., n), and let f and g be nonnegative functions on $[0, +\infty)$ which are continuous and satisfy the relation f(t)g(t) = t for all $t \in [0, +\infty)$. Then for $\alpha \in [0, 1]$ and $r \geq 2 \max\{\alpha, 1 - \alpha\}$

$$ber^{p}\Big(\sum_{i=1}^{n}A_{i}^{*}T_{i}B_{i}\Big) \leq n^{p-1}ber\Big(\sum_{i=1}^{n}(\alpha[B_{i}^{*}f^{2}(|T_{i}|)B_{i}]^{\frac{p}{2\alpha}} + (1-\alpha)[A_{i}^{*}g^{2}(|T_{i}^{*}|)A_{i}]^{\frac{p}{2(1-\alpha)}})\Big).$$

The third main result in this section is generalization and refinement of Theorem 3.4.

Theorem 3.5. Let $A_i, B_i, T_i \in B(\mathcal{H})$ for i = 1, 2, 3, ..., n, and let f and g be non-negative continuous functions on $[0, +\infty)$ such that f(t)g(t) = t, for all $t \in [0, +\infty)$. Then for $m = 1, 2, 3, ..., and r \ge 1, p \ge 2m \max\{\alpha, 1 - \alpha\}$, we have

$$\begin{split} ber^{p} \Big(\sum_{i=1}^{n} A_{i}^{*} T_{i} B_{i} \Big) \\ &\leq n^{p - \frac{m}{r}} ber^{\frac{m}{r}} \Big(\sum_{i=1}^{n} (\alpha [B_{i}^{*} f^{2}(|T_{i}|) B_{i}]^{\frac{pr}{\alpha m}} + (1 - \alpha) [A_{i}^{*} g^{2}(|T_{i}^{*}|) A_{i}]^{\frac{pr}{m(1 - \alpha)}}) \Big) \\ &- \inf_{\lambda \in \Omega} \xi(\lambda), \end{split}$$

where

$$\begin{split} \xi(\lambda) &= \frac{n^{p-1}}{2^m} \sum_{i=1}^n \Big(\frac{\langle [B_i^* f^2(|T_i^*|)B_i]^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle [A_i^* g^2(|T_i|)A_i]^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle [B_i^* f^2(|T_i^*|)B_i]^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle [A_i^* g^2(|T_i|)A_i]^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} \\ &- (m+1)[\langle [A_i^* g^2(|T_i|)A_i]^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle [B_i^* f^2(|T_i^*|)B_i]^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle]^{\frac{m}{2}} \Big). \end{split}$$

Proof. Using similar arguments as used in Theorem 3.2, we have,

$$\begin{split} \left| \left\langle \sum_{i=1}^{n} A_{i}^{*} T_{i} B_{i} \hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle \right|^{p} \\ &\leq n^{p-1} \sum_{i=1}^{n} \left\langle f(|T_{i}|) B_{i} \hat{k}_{\lambda}, f(|T_{i}|) B_{i} \hat{k}_{\lambda} \right\rangle^{\frac{p}{2}} \left\langle g(|T_{i}^{*}|) A_{i} \hat{k}_{\lambda}, g(|T_{i}^{*}|) A_{i} \hat{k}_{\lambda} \right\rangle^{\frac{p}{2}} \\ &\leq n^{p-1} \sum_{i=1}^{n} \left(\left\langle [B_{i}^{*} f^{2}(|T_{i}|) B_{i}] \hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle^{\frac{\alpha p}{2\alpha m}} \left\langle [A_{i}^{*} g^{2}(|T_{i}^{*}|) A_{i}] \hat{k}_{\lambda}, \hat{k}_{\lambda} \right\rangle^{\frac{p(1-\alpha)}{2m(1-\alpha)}} \right)^{m}. \end{split}$$

So,

by Lemma 2.3 and concavity of the function $t \longrightarrow t^{\frac{m}{r}}$. Taking the supremum over $\lambda \in \Omega$, we get the desired inequality. This completes the proof.

Corollary 3.2. Let $T_i \in B(\mathcal{H})$ for i = 1, 2, 3, ..., n, and let f and g be non-negative continuous functions on $[0, +\infty)$ such that f(t)g(t) = t, for all $t \in [0, +\infty)$. Then for $m = 1, 2, 3, ..., and r \ge 1, p \ge 2m \max\{\alpha, 1 - \alpha\}$, we have

$$ber^{p} \Big(\sum_{i=1}^{n} T_{i}\Big) \leq n^{p-\frac{m}{r}} ber \Big(\sum_{i=1}^{n} (\alpha [f^{2}(|T_{i}|)]^{\frac{pr}{2\alpha m}} + (1-\alpha) [g^{2}(|T_{i}^{*}|)]^{\frac{pr}{2(1-\alpha)m}})\Big)^{\frac{m}{r}} - \inf_{\lambda \in \Omega} \xi(\lambda),$$

where

$$\xi(\lambda) = \frac{n^{p-1}}{2^m} \sum_{i=1}^n \Big(\frac{\langle [f^2(|T_i^*|)]^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle [g^2(|T_i)]^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle [f^2(|T_i^*|)]^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle [g^2(|T_i|)]^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} - (m+1)[\langle [g^2(|T_i|)]^{\frac{p}{2m(1-\alpha)}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle [f^2(|T_i^*|)]^{\frac{p}{2\alpha m}} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle]^{\frac{m}{2}} \Big).$$

4. Some results for f-connections of operators

The aim of this section is to give some Berezin number inequalities for the f-connection of operators.

Let f be a continuous function defined on the real interval J containing the spectrum of the operator $A^{-1/2}BA^{-1/2}$, where B is a self-adjoint operators and A is a positive invertible operator. By using the continuous functional calculus, Tafazoli et al. [14] defined f-connection σ_f as follows:

$$A\sigma_f B = A^{1/2} f(A^{-1/2} B A^{-1/2}) A^{1/2}.$$

The first main result of this section and reads as follows.

Theorem 4.1. Let $A, B, X \in B(\mathcal{H})$ be such that A, B are positive definite. Then for all integer m, and $r \geq 1$, we have

$$ber^{m}((A\sigma_{f}B)X) \leq 2^{\frac{-m}{r}}ber^{\frac{m}{r}}\Big((X^{*}A^{1/2}f^{2}(A^{-1/2}BA^{-1/2})A^{1/2}X)^{r} + A^{r}\Big) - \inf_{\lambda \in \Omega}\xi(\lambda),$$

where

$$\xi(\lambda) = \frac{1}{2^m} \Big(\frac{\langle X^* A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} X \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle A \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle X^* A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} X \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle A \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} - (m+1) (\langle X^* A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} X \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle A \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle)^{\frac{m}{2}} \Big).$$

Proof. We have,

$$\begin{split} |\langle A\sigma_{f}B\rangle X\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle|^{m} &= |\langle A^{1/2}f(A^{-1/2}BA^{-1/2})A^{1/2}X\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle|^{m} \\ &\leq ||f(A^{-1/2}BA^{-1/2})A^{1/2}X\hat{k}_{\lambda}||^{m}||A^{1/2}\hat{k}_{\lambda}||^{m} \\ &\leq \left(\langle f(A^{-1/2}BA^{-1/2})A^{1/2}X\hat{k}_{\lambda},f(A^{-1/2}BA^{-1/2})A^{1/2}X\hat{k}_{\lambda}\rangle^{\frac{1}{2}}\langle A^{1/2}\hat{k}_{\lambda},A^{1/2}\hat{k}_{\lambda}\rangle^{\frac{1}{2}}\right)^{m} \\ &\leq \left(\langle X^{*}A^{1/2}f^{2}(A^{-1/2}BA^{-1/2})A^{1/2}X\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{1}{2}}\langle A\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{\frac{1}{2}}\right)^{m} \\ &\leq 2^{\frac{-m}{r}}\left(\langle X^{*}A^{1/2}f^{2}(A^{-1/2}BA^{-1/2})A^{1/2}X\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{r} + \langle A\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle^{r}\right)^{\frac{m}{r}} - \xi(\lambda) \\ &\qquad (\text{ by inequality (2.5))} \\ &\leq 2^{\frac{-m}{r}}\left(\langle ((X^{*}A^{1/2}f^{2}(A^{-1/2}BA^{-1/2})A^{1/2}X)^{r} + A^{r})\hat{k}_{\lambda},\hat{k}_{\lambda}\rangle\right)^{\frac{m}{r}} - \xi(\lambda) \\ &\qquad (\text{ by Lemma 2.3 (a)). \end{split}$$

Taking the supremum over $\lambda \in \Omega$, we deduce the result.

Taking X = I, in Theorem 4.1, then we have the following corollary

Corollary 4.1. Let $A, B \in B(\mathcal{H})$ be such that A, B are positive definite. Then for all integer m, and $r \geq 1$, we have

$$ber(A\sigma_f B) \le 2^{\frac{-m}{r}} ber^{\frac{m}{r}} \Big((A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2})^r + A^r \Big) - \inf_{\lambda \in \Omega} \xi(\lambda).$$

where

$$\begin{split} \xi(\lambda) &= \frac{1}{2^m} \Big(\frac{\langle A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle A \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle A \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} \\ &- (m+1) (\langle A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle A \hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle)^{\frac{m}{2}} \Big) \end{split}$$

Taking r = 1, X = I, and $f(t) = \sqrt{t}$, in Theorem 4.1, we have the following simplified form.

Corollary 4.2. Let $A, B \in B(\mathcal{H})$ be such that A, B are positive definite. Then for all integer m, we have

$$ber(A \sharp B) \le 2^{-m} ber^m (A + B) - \inf_{\lambda \in \Omega} \xi(\lambda),$$

where

$$\xi(\lambda) = \frac{1}{2^m} \Big(\frac{\langle B\hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1} - \langle A\hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle^{m+1}}{\langle B\hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle - \langle A\hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle} - (m+1)(\langle A\hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle \langle B\hat{k}_{\lambda}, \hat{k}_{\lambda} \rangle)^{\frac{m}{2}} \Big).$$

The second main result of this section and reads as follows.

Theorem 4.2. Let $A, B, X \in B(\mathcal{H})$ be such that A, B are positive definite. Then for all integer m, and r > 1, we have

$$\begin{split} ||(A\sigma_f B)X||_{ber}^m &\leq 2^{\frac{-m}{r}} \Big(||(X^*A^{1/2}f^2(A^{-1/2}BA^{-1/2})A^{1/2}X||_{ber}^r + ||A||_{ber}^r \Big)^{\frac{m}{r}} \\ &- \inf_{\lambda_1,\lambda_2 \in \Omega} \xi(\lambda_1,\lambda_2), \end{split}$$

where

$$\xi(\lambda_1,\lambda_2) = \frac{1}{2^m} \Big(\frac{\langle X^* A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} X \hat{k}_{\lambda_1}, \hat{k}_{\lambda_1} \rangle^{m+1} - \langle A \hat{k}_{\lambda_2}, \hat{k}_{\lambda_2} \rangle^{m+1}}{\langle X^* A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} X \hat{k}_{\lambda_1}, \hat{k}_{\lambda_1} \rangle - \langle A \hat{k}_{\lambda_2}, \hat{k}_{\lambda_2} \rangle} - (m+1) (\langle X^* A^{1/2} f^2 (A^{-1/2} B A^{-1/2}) A^{1/2} X \hat{k}_{\lambda_1}, \hat{k}_{\lambda_1} \rangle \langle A \hat{k}_{\lambda_2}, \hat{k}_{\lambda_2} \rangle)^{\frac{m}{2}} \Big).$$

Proof. We have,

Taking the supremum over $\lambda_1, \lambda_2 \in \Omega$, we deduce the result.

Letting $f(t) = \sqrt{t}$, then for $m = 1, 2, \ldots$, we have the following corollary.

Corollary 4.3. Let $A, B, X \in B(\mathcal{H})$ be such that A, B are positive definite. Then for all integer m, and r > 1, we have

$$||(A\sharp B)X||_{ber}^{m} \leq 2^{-m}(||X^{*}BX||_{ber}^{r} + ||A||_{ber}^{r})^{\frac{m}{r}} - \inf_{\lambda_{1},\lambda_{2}\in\Omega}\xi(\lambda_{1},\lambda_{2}),$$

where

$$\xi(\lambda_1,\lambda_2) = \frac{1}{2^m} \Big(\frac{\langle X^* B X \hat{k}_{\lambda_1}, \hat{k}_{\lambda_1} \rangle^{m+1} - \langle A \hat{k}_{\lambda_2}, \hat{k}_{\lambda_2} \rangle^{m+1}}{\langle X^* B X \hat{k}_{\lambda_1}, \hat{k}_{\lambda_1} \rangle - \langle A \hat{k}_{\lambda_2}, \hat{k}_{\lambda_2} \rangle} - (m+1)(\langle A \hat{k}_{\lambda_2}, \hat{k}_{\lambda_2} \rangle \langle X^* B X \hat{k}_{\lambda_1}, \hat{k}_{\lambda_1} \rangle)^{\frac{m}{2}} \Big).$$

48

Acknowledgements. The authors would like to express their deep thanks to the anonymous referees for their comments and suggestions on the initial version of the manuscript which lead to the improvement of this paper.

References

- Y. Al. Manasrah and F. Kittaneh, A generalization of two refined Young inequalities, Positivity, 19(2015), 757–768.
- [2] F.A. Berezin, Covariant and contravariant symbols for operators, Mathematics of the USSR-Izvestiya, 6(5) (1972), 1117–1151.
- [3] F.A. Berezin Quantizations, Mathematics of the USSR-Izvestiya, 8 (1974), 1109–1163.
- [4] S.S. Dragomir, Some inequalities generalizing KatoâĂŹs and FurutaâĂŹs results, Filomat, 28(1) (2014), 179–195.
- [5] P.R. Halmos A Hilbert Space Problem Book, 2nd ed. New York: springer, 1982.
- [6] G. H. Hardy, J. E. Littlewood, and G. PÂtolya, *Inequalities*, 2nd ed., Cambridge Univ. Press, Cambridge, 1988.
- [7] M. A. Ighachane and M. Akkouchi, A new generalization of two refined Young inequalities, Moroccan Journal of Pure and Applied Analysis, 6(2) (2020), 155–167.
- [8] M. A. Ighachane and M. Akkouchi, On Young inequalities for τ mesurable operators, Submitted.
- [9] T. Kato, Notes on some inequalities for linear operators, Math Ann., 125 (1952), 208–212.
- [10] F. Kittaneh, Norm inequalities for fractional powers of positive operators, Lett. Math. Phys., 27 (1993), 279–285.
- [11] F. Kittaneh, Notes on some inequalities for Hilbert space operators, Publ, Res. Inst, Math, Sci., 24(1998), 283–293.
- [12] F. Kittaneh, and Y. Manasrah, Improved Young and Heinz inequalities for matrices, J. Math. Anal. Appl., 36 (2010) 262–269.
- [13] C. A. McCarthy, c_p, Israel, J. Math., 5 (1967), 249-271.
- [14] S. Tafazoli, H.R. Moradi, S. Furuichi, P. Harikrishnan, Further inequalities for the numerical radius of Hilbert space operators, J. Math. Ineq., 13(4) (2019), 955–967.
- [15] A. Taghavi, T. A. Roushan, and V. Darvish, Some upper bounds for the Berezin number of Hilbert space operators Filomat, 33(14) (2019), 4353–4360.

¹DEPARTMENT OF MATHEMATICS,

FACULY OF SCIENCES-SEMLALIA, UNIVERSITY CADI AYYAD,

Av. PRINCE MY. ABDELLAH, BP: 2390, MARRAKESH (40.000-MARRAKECH), MOROCCO (MAROC) *E-mail address*: mohamedamineighachane@gmail.com

²DEPARTMENT OF MATHEMATICS,

FACULY OF SCIENCES-SEMLALIA, UNIVERSITY CADI AYYAD,

Av. Prince My. Abdellah, BP: 2390, Marrakesh (40.000-Marrakech), Morocco (Maroc) $E\text{-mail}\ address: \texttt{akkm5556yahoo.fr}$